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| ()t:e:{ion*; ‘ PART Marks |
; Answer Q.1 and ANY FIVE questions from the rest
| |
Fad | Write the equivalent FORTRAN statements of the following arithmetic equations [4+2x3
: jx+ v v = | OJ
] e ¢

1) Z= - i) g =sin(log,,(p + ¢)) —sin 60°

X+y x-y

L.8) ) Auswer. in bricf, the following questions:
1) What do you mean by compiler?
| 1i) What are the differences between the executuble and non-executable statements?
| it) Give examples of * Arithmetic IF* and *Computed GO TO statement,
2 Write @ FORTRAN programme to find out the real roots of a quadratic equation 8
L ax” + bx + ¢ = 0. It should display the message if the roots are imaginary.

3. Write a FORTRAN program to determine the “arit/unctic mean” of n real numbers x,. 8
! X2. Xu. ... Xp having the frequencies £, i, f3. ... f).

41 Write a FORTRAN programme o check whether a given integer is divisible by cither P8
- 7orilornot. ‘

o

| Writc 2 FORTRAN program to determine the “directions of principal planes’ and ‘the
f principal moment of inertia’ using the following expressions and find the maximum
- and minimum principai moment of inertia.

! I

|

|

2

| . ( —i I'/ 2']1': T 0 i
| - — -y L = A . |
K 4\ tan L] - Jund 0, =6, +90 |

¥

a f L EL%\J(LH”)_(
B
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J(]_,_, -1, )005(26’)— I, sin(29)

by
+
]

fa | = D

)(1 -1, Jeos(20)+ 1, sin(20)

(Contd. ta page 2)
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PART I M

! 6. | Write a FORTRAN program to calculate the harmonic mean of all integers in the range 1
i 65 to 90. i

7. | Write a sub-programme to calculate the factorial of an integer number. Using this,
i write a FORTRAN main-programme to calculate nCr where n and r will be given by

{ the user.
‘ n!

"y
i ¢ i n-r)

8. | Write a FORTRAN sub-programme that finds the largest and smallest elements from Lo
an one dimensional array. Using this subprogramme, write a FORTRAN programme to

find the smallest and largest element from the principal diagonal of a matrix of size !
- 5xS.

. 9. | Writec a FORTRAN subprogram to calculate the sum S = aiby+agby+ ... + anh, . Using ! &
| this subprogram, write a FORTRAN programme to calculate the following quantity |

2 2 2 2 2 2
P \/x, + Xy ot X, ><\/yI Yy oty

|
|
|
\/xlyl +x2y2 +"'+xnyn ‘
|
i

where x1. X2, X3, ... Xpand yi, v2. ¥3, ... ya will be given by the user.

=== END ===
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| Question | |
! i Answer any FIVE (All questions carry equal marks) |
Tﬁ*!\—/l_ } I.|  Solve the following equation by Gauss Elimination method. .
& . ' i
| | | 3K 1+4Xe-Xs = 15
1 ! 5X1-3Xz = 11 |
nge (. : 2X1-3X-2X5 = - 1.5 ’
| |
‘ 2. Solve the following equation by Newton Raphson Method. Find out the result correct upto 3
his ( 1 decimal points. Use tabular form showing only one sample calculation. Start with guess '
b ) value x=0. ;
_ Y j xe* +In(x)- cos(x)= -0.6 !
3 Use Newion Raphson method of two variables to solve the cquations
xhx?ry  =74.245
| X -y*xy=-56.805
rom | ¢ : Correct to two decimals, starting with the approximation (2.7, 4).
eto | _
size | i 4., Using Runge Kutta Method of order 4, find y (0.4) given that dy/dx = x*xy-y* vy (0) = 0. Take
f | h=0.2. ‘
o | |
Sing | ¢ : 5. w The following table gives the value of X and Y, Y being the dependent variable. Use ?
o i - Lagrange’s formula to find value of Y when X = 4.
! : !
| | X i 3 3 8 } !
| ‘ LY 223 500.4 650.5 7933 | |
: : | |
| ; 6. Write short notes (ANY TWO):
i a) | Method of Bisection '
| b} : Gauss Seidal Method
| ¢} - I-Conditioned System of equations
i
|
| .
I




